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Acc Geom/Adv Alg
Test Review — Module 10

1) What is the degree of 5xy*z?

v
2) (2x2—4+5x)—(—x2+8x)—2(9x+1+3x2) 2
IXT-U4sx +x* R % -1§x -2 - LX
-2 -2\~

Add or Subtract. Write the polynomial in standard form. Identify the leading coefficient, degree, and
number of terms. Name the polynomial

3) (2x* — 6x2 +8) — (=5x* + 2x% — 12) 4) (=32% = 2x5 = 3) + (5% + 3% + 725)
Standard Form: ¥ - X" +20 Standard Form: 6)(1 -4

Leading Coefficient: ' Leading Coefficient: )

Degree: Y ‘ Degree: 7]

Number of Terms: Number of Terms: )

Name: ()Dua{'ﬁc/ Frinomicd Name: ODlAadXG:X:\C binomial

" Multiply the following polynomials.

5) —2x3(x —3)(4x + 1) 6) (x%+xy — 6y?)(y2 + 3x) Z
(,2)(‘1 +UX3) U-DU’D /X’),+ X\/\ —i’ﬁ—j

1 f=m ’5/ B L’
3 Yol | xy? |-y

—9%° +22x " Flox? Wﬂklfxfﬂf'%ﬂ

7) azb(Za“"b — 5ab*) 8) —(7x — x? + 6)(3x + 5)?

NELITDS
. &",X'*' »X'L_, Lﬂ) (RS
| 20\6 b')—_t‘é Qa@ (x2-X -v) @ax=+ 50X+2§)
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Expand the expressions.

5 X %*‘ 31
9) (2x-3) 6l (Lllgq ,b _ lL“;(XH 10) (4x +5y)3 lwlﬁ)oi WJ UL\ X’)-Z
0 @ 2 TV 3 )7 ByY= 4007y
0 (20 37 =10V CNCAANE Bz)m(gl

(X' 3 = 4
? Lz;)"az‘f'-‘zt\b | (S (A= 125y

— 3
@qnx“mox"- 08OX* +§10 x—v@ @ LD sz?numj”%ij

11) Atrick coin is designed to land heads up with a probability of 80%. You flip the coin 7 times. What
is the probability of getting 6 or 7 heads?

N=") ’\7((03:10\0(‘23@(.2)‘ = ,H 100w
- L ,
;:u% pe=Cq (D' LZY = oS

0=.2 W( T T8 ]

12) A 20 question test is given in your English class. The test only contains true/false questions. What
is the probability that you get exactly 16 questions correct?

'n=10 ] YLD poxu
(= pt\lﬂ*mc\\o( 6) L @

p=-
Gy -5

13) 7 out of every 10 students at Buford High School hoped to have a snow day today. Suppose you
survey the students in your math class (16 students). What is the probability that at least 4 of these

p(m, (:D( M’ L%)"" OOOOoooo‘I—I
n= 1y P i, (T LAY 000000 T
¥=zu PLD): WQ LT (L B)' < 0009
P=Tho LD pp)= L (, (T (P 0000
Gy= 2o x) |- 0000252

:mqqu@

wa 10 “0“““‘)a = ‘

wanted a snow day?
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Factor completely. O; ‘g"“?/
14) —9x* —33x* -18x’ 15) 2x° —432
Y G el ) O AlX=-210)
(gx+a0 2% +) (S
2%+ 2) LX) o () L”Kq YUY Y )

L
37
16) 4x* —72x* +128 %U 17) 3x° —6x" —15x" +30x’
-1

4 (- 19X +IT) I A TR 1D)

) (42-7) (- 1) Wix2) -5l
4 (y-1) (XY WX 4)

10 7 6 3
18) X" +8x7 —9x° = 72x 19)—x6 — 733 + 8

YA+ Y-T12) ~ (x4 -9)
Y () -90CHT) - (C+N -1 .
X (r-9) (O +6) [~ (D Oy (X-N EHE

[P -D D (X-1x +L@
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Divide using the method of your choice.

20) (X' +x" =1 +(x~2) 21) (2x* +10x2 =3)+ (x* +7)

Q10 0 -] 2240x -4
vz U E‘% 90+0)c+‘lﬁzz“+0(7f+wxl+ox—3
2 IO T

1% .

L’)ﬁbxlwx H’H-é DYy +0X - |-
— Nk? +OXE10X

R 421} ey

A HoX T2 8

U

f 25 5
‘ 2-’X1'Lll+xl.+j Z
22) (9x3 — 70x% + 103x — 49) + (9x — 7) 23)5x® —2x* +x3 - 7x2—6x+9) + (x + 1)
1 _ ;U’5-l“7‘bq
42-1] 711;’07}7;;(; V-9 1 8 15
x- q "OXL 6 /’l % "I% O‘ ‘Q
G+ \[/
T
lﬂb n m4~7X3 “'KXIZ—I'{)X Ta
X
Hit -4
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Accelerated Geometry

Extra Review Problems

AR . 2 | N2
1) 'f4(Ln(1) l% (Lllic N (X-D LX_'\ X 1uwx: \ gxl %
- QeI (x _2xyD) T 31X \-w LX

(Al I (- 2D x| $x |7

[T\m —6bx1+|ox-ﬂ

2) 40x% — 135x3 - 3) —2x* + 3x3 + 2x —

AR Ix°-27) Tl o mH2x13)
k=2x  b=3 2l1x-3) -1 (1x73)

)

Factor the following polynomials

@?_UFQ mﬁw‘%@ @x%x’r N (1%-3) |

Use synthetic or long division to divide the polynomial.

4) (2x* +3x3+21x+4) + (x2 +3x—6)

-LOoX+t 120
D 9X 42 e R v
% 3hY -0 | I rHeror Y 2 t Y

YRS Ft it

——
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